SNSFEEFV-IE

sl EHH

16§ 2SS
Bl K7 - SEAF

[4B18(LX) ORI TLARE HERIA13:59 #K£T16:43:505M  285/M14497)
[BkE&] £4F (BAA0B) [—2£%F] A (FAO0B) [ZE2FE] AH (3z8p) [=2%F] §iE (GAXO0B)

BRI IRAZR (15080
BdsF - B (0f$18%)

BEX 501100 00|00 1 7
BIZE 0/{1|/0(2|1(2|0|0| 2x | 8

<EET>

EEN. Rz T,

HZE(F2mziE>S6E. KAX (3 - HRFEFE) NP8 ZK5
THRTERETDE MNE (4-1B2) . A (3 - EASIE) OEfk
B TRRISEVD <,

EHIC1RZIESoM., /NEF (4 - BI7IREMEEE) OFRIR ] K18
IRETIMEOIFEZED. MUK UTHERISEN DL, =5(C
ZImgEn s, RO (3 - RIF) OHELERF] TH 3T SEFIEUR
iz,

BIFTE IRAER (2 - KIF) AU —TEHIFZZT T,

BXREEHTDEFEAMDOUINT . BLLWBERERD T,

EX %

I BE%. fREFE. BARE. & BT, HF BO. F

N, &R, X8 [N, 7 N7 =%
W F |l o
AT
=247 |l LIARSE, ME
TR |WH M. EHEK. L
2 11 IBAK. Wik, R (avi
5% 2
% 2 9 11
@ 82 K BN . WE. bR
X R |Lrg2. TR IIARSZ, LI
2 #®
o

[6] MALR (3 HREFE) 4 1 0 O 1

[8] REF (3 RBRtEE) 4 1 O 0 1




[7] A (4 BEE) 4 1 0 1 O
3 At (3 HBEXKLL) 0 of of o O
[9] M (4 33P) 51 4 1] 0| 0
[3]7 thx (2 KBRAFRZ) 4 1| 1 ol 0
[5] IZZN (4 BHEFR) 2l 0o o o 3
[4] £ (4 LIRKH) 4 1| 1| 0 1
[2] LLi7T (3 XIB) 3] 2| 2 1] ©
[1] =L (4 K<) 2 ol o o 1
1 B L (3 BEuUHIL) 0 o of o O
1 BAIR (2 BAZ) 0 o of of O
H ! (2 EARER) 1 0 of 1 O
1 =11 (3 TEBR) 0 o of o 0O
1 XE (2 EFtt) 0 o of o O
&t 33 11| 5 3| 7
B B 1% & RIKE
B%F |523(109| 29| 9|5(2(3
PR_PFE|013] 5| 1| 0{0[0|0
BAR 1| 13| 3| 0{0[0|0
=l 1| 16| 5| 2|0[0[0
BA  |0ys| 19 4] 1/1]1|1
= [0w3] 9 3| 1/0/1|0
8|171| 45|13|6[4|4

[8] AR (4 B8) 4 3| 1] o] 1
[6] LI (3 EIEHERE) 50 11 1] 1 0
[9] INEF (4 BITIHERR) 50 2 of 1] 0
R Bl (4 ALIRAKE) O O O 0O O
[3] i (4 BEBHEHDFRIL) 3] 0 O O 1
[7] LLIASE (2 BAE) 50 21 2| 1] o
[2] aH (4 KBRAEFZ) 4 1 0o 1] 1
[5] KO (4 BIFEER) 4 o 3 o 1
[4] INIIE: (3 HIEE) 50 11 ol of o
[1] AT (4 BI7(RRT) o o o of o
1 INFE (4 BIFEER) o ol of ol o
H =R (3 1) 1 ol of 1| o
1 B0 (3 N\EF) 1 o o 1] o
H HHEX (3 HREFE) 1 1| O 0] O
1 hh (3 BIFEER) o o of of o
1 AR (3 BBHEHADFRIL) O Of 0 Oof O
H N (4 &) 1 1/ o of o




BFEFAEEFEEE  KANSAI BIG 6

1 IRARE (2 KIE) 0 O

H RO (3 KIlE) 1 1
st 40| 13

¥4T | 1| 33| 10| 4| 1| 3|4

NNHF| 2] 29] 8| 2[0/0]0

B0 | 3] 39 10 1/1]1]0

g (1] 12| 4| 2/0/0/0

A#K |1 19| 6| 0/1]3|0

RARZ| 1| 11| 5| 2/0[0|1

g 9| 143| 43|11 3| 7|5




